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Fig. 4 Revised. Experimental and calculated relative intensities for transitions from 3'TI(v,
J=30, 1) to different 1(X)'Z*(v", J=30, ¢) levels. (a) v=06,(b) v=28,(c)v=10,(d)v=12.In
these calculations, the transition dipole moment was taken to be constant with internuclear
separation. Experimental and calculated values are normalized to each other at the highest
intensity experimental peak.
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Fig. 5 Revised. Experimental and calculated relative intensities for transitions from 3'TI(v,
J=30, 1) to different 1(X)!Z*(v", J=30, ¢) levels. (a) v=6,(b)v=28,(c)v=10,(d)v=12. In
these calculations, the transition dipole moment was taken to be with p,/p, = —78.4 (A)?,
py/p, = 2233.1 (A, p,/p, = —26001 (A)S, and p/p, = 108087 (A). Experimental and
calculated values are normalized to each other at the highest intensity peak.





